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0258 20ile =2 SE A X
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A =EAEA
B gho] HExe
CH9l: SEOHMAI (SRS SHEIH) (Crel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=LA A 16,451,518 37,105,979 A\21,654,461
= 5,288,000
Jl 2,954,900
= 541,000
Ea 6,667,618
ots=2l &l 15,451,518 35,9%7,889 20,516,371
= 5,288,000
) 2,954,900
= 541,000
= 6,667,618
SZONE A (SEIHESES) 16,451,518 36,967,889 A20,516,371
= 5,288,000
Jl 2,954,900
= 541,000
o 6,667,618
BHI|IZAIE 252 50,000 50,000 0
401 AlZHIZ SO 50,000 50,000
01 A28l 50,000 50,000
OstBIIZAIE THollthll 2182 ==t 50,000
SFII=NE 2E 1,855,384 811,111 1,044,273
201 Ler23 | 496,000 463,920 32,080
01 At2t2lt] 2,000 4,920 A2,920
OEAN=AA HA+ 2,000
2 s5=34l 494,000 459,000 35,000
OMWSE &I =Al2el 130,000
OUrESot=RIcINE 8523 100,000
OlttzLXelAME 38322 82,000
OOtSot=HMe A& (260 ) B3RS 100,000
ON=E2a3EHNE 35= 82,000
401 AIEHIX S0 859,000 331,180 527,820
01 A28l 859,000 331,180 527,820
OAAEBI6tHMelAld JHESAHAO],
40i=) 600,000
Ot S3ot=HelAlE DIMsATE &
s B+ 90,000
Ol4t SSot=HMelAIE JIZ2S EHl SA 110,000
Ol SZoteHelAld ZI10] ety &
Xl 50,000
OUdESotr=XIcIANE FIItHEH EY
4,500,000& 22 9,000
403 AXIEHHSAH=0l 500,384 12,011 488,373
02 SIS0t 2 S A A 500,384 12,011 488,373
OAIERESSHCAE Jlsdd 54,976




SN o B
B gho] HExe
cel: SEHEAMG (SEIHNESESIA) (SH &)
SA - B BRA(SH) - HRA - of v e HIDE2
OZ3ots22Z J|l=d 445,408
2FI|zAlE etz 4,497,682 8,158,339 A\3,660,657
2,240,900
o 2,256,782
207 ARl 20,000 20,000
01 S| 20,000 20,000
O3S0t 2| el JAotAI =S 20,000
307 212+01& 4,198,722 4,131,889 66,833
2,070,111
2,128,611
05 2ItRIE =2 4,198,722 4,131,889 66,833
OustESote=xeld 2,334,536
1,135,897
1,198,639
O2=Held 2¢ 302,715
154,771
147,944
OI=E2eXeld 23 708,256
269,664
438,592
Oltsot: 28 853,215
509,779
343,436
401 AlZHIZ SO 218,960 3,899,992 A3,681,032
170,789
48,171
01 Al&HI 218,960 3,899,992 A3,681,032
Otz xelAd el 103,790
80,956
22,834
Ol=ARZ2ESSotexelAME Hd 115,170
89,833
25,337
403 AXIEHHSAH=01d 60,000 126,458 66,458
02 SI|12ASUetA=2H 60,000 126,458 A\66,458
OS3otr=xiclAld 2
= 60,000
OtSots=S RIZMHEAI (S 2H 115,000 115,000 0
201 er23| 35,000 356,000
2 s5=4g4l 35,000 35,000
O3+l OtSot= 8= 35,000
307 el2to| & 80,000 80,000
05 212+ =S 80,000 80,000




A =EAEA
ZE: g0l XYWz
SRl SEINEAI (SEINESLESIA) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| 0222 nigsi+E () 29 80,000
51420013 BTLAMY YCHAIE 84,452 83,452 1,000
201 LBzl 46,880 46,880 0
01 At2teltl 26,880 26,880 0
OB I BLYTHSY Bt +48
220,0002 6% *43] 5,280
OBILRY4E BDSE2AA $42
450,000 * 120 A-#43] 21,600
02 S22l 20,000 20,000 0
OBTLAIY S32= 20,000
206 24| 572 572
01 2| 572 572
OBILRY 4 +HAAES M4
572,000 *14] 572
403 AXIEHHSA=201H 37,000 36,000 1,000
02 SIS0t =2 AE A 37,000 36,000 1,000
O BH4BIHIH AT BIRHAIRI(BTL)
=NLE=P, 9,250,000& *42] 37,000
St=2 1 EH| BILANY X (=H]) 4,796,000 4,145,987 650,013
= 2,316,000
D) 630,000
[Ea 1,850,000
402 RIZtAH=01 A 4,796,000 4,145,987 650,013
= 2,316,000
Il 630,000
[ 1,850,000
03 2IZHRAETAIHHI 4,796,000 4,145,987 650,013
OTAE BH+B2FH UTHE SITHAIR(BTL)
ANz 4,019,000
= 2,316,000
Il 630,000
e 1,073,000
OTUE B2 FH UTHY SITHAIR(BTL)
2gH| 777,000
HENSY 2el 120,000 190,000 A70,000
Jl 84,000
o 36,000
401 AIZHIX S0HH 120,000 190,000 A70,000
Jl 84,000
i 36,000
01 Al&HI 120,000 190,000 A70,000
OdEsY =AlZc 120,000
Jl 84,000
o 36,000




A =EAEA
B gho] HExe
Tl SEIPMAIR (S EINESE S| H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=4 s0E0Sol= ZHIAY 452,000 223,000 229,000
= 304,000
== 44,000
[Ea 104,000
401 AlEHIZL SO 452,000 223,000 229,000
= 304,000
=S 44,000
s 104,000
01 AlZ28| 452,000 181,070 270,930
O=2d sHENS0ot+T JHIA 452,000
= 304,000
= 44,000
[Ea 104,000
Z2d sOEltSol== SEAME 867,000 334,000 533,000
= 552,000
= 95,000
Ea 220,000
401 AIEHIX 20HH 867,000 334,000 533,000
= 552,000
= 95,000
= 220,000
01 Al&H| 867,000 262,420 604,580
OZd sO0ElI=ot+t SEAY 867,000
= 552,000
< 95,000
s 220,000
ZE SO0ENSo=T FHIAY 283,000 213,000 70,000
= 198,000
< 26,000
= 59,000
401 AIEHIZL S0 283,000 213,000 70,000
= 198,000
== 26,000
o 59,000
01 Al&HI 283,000 191,700 91,300
OZE sOlE0S0tT JHIAE 283,000
= 198,000
=S 26,000
s 59,000
o sOENSo=E SEAME 173,000 502,000 329,000
= 121,000
= 16,000
o 36,000




A =EAEA
B gho] HExe
el SEINEAS (SRINESESIA) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 173,000 502,000 A329,000
= 121,000
== 16,000
[Ea 36,000
01 Al&HI 173,000 451,800 A278,800
OFot sO0ElIS0l+=E SEAMY 173,000
= 121,000
=S 16,000
s 36,000
QDI Ea, KB, 25 sHESH=ZEHIA 955,000 324,000 631,000
= 796,000
=S 159,000
401 Al HIZL 2048 955,000 324,000 631,000
= 796,000
== 159,000
01 Al&H| 955,000 324,000 631,000
Oaldl, 25, N&, 25 sHENS0sE
ZHIA 955,000
= 796,000
= 159,000
Y sOHEONSOH+EHIAIE 136,000 324,000 188,000
= 113,000
S 23,000
401 Al HIZL 01| 136,000 324,000 188,000
= 113,000
== 23,000
01 Al&H| 136,000 324,000 188,000
O=2Y sOeEISo==dIAY 136,000
= 113,000
< 23,000
=¥, =g, 78, 24 sOHEMSo+=TFHIAE 1,066,000 324,000 742,000
= 888,000
= 178,000
401 Al HIZL S 0HYI 1,066,000 324,000 742,000
= 888,000
=S 178,000
01 Al&H| 1,066,000 324,000 742,000
=g, 7E, 78, 24 sO0ENSo+k
I 1,066,000
= 888,000
< 178,000
HE, 10LaH, 58 sHENIS+=ESHIAEY 1,000 1,000
401 Al HIZ R 0HbI 1,000 1,000




SN ATARRIA
ma: ool MFHL
SRl SEONMAL (S ENESESIH)
2 s IE]
SN - GA(SH) - NRAY - BES 0l &t e

01 A=l 1,000

O#s, 0L o, 58 soEllso+==d

HIAH 1,000




